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Consider how 7 p p.ws changes as

change the collection set of
p p we β o is the Offer curve o

of Consumer 1 Since Consumer 1
con always consume her endowment
the OC is in the upper contour set

of we and it is tangent to the

indifference curve that passes through
the indoment we
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A Walrasione equilibrium in the Edgeworth
is a profile of prices and an
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If pt is a Walrasione reg then

Xp with o is also a Walrasion
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What is a Pareto efficient allocation
in the Edgeworth box

An allocation x is Pareto efficient
in the Edgeworth box if there exists
no other allocation in Edgeworth
box such that
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